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Nome: Data: Punteggio: __
8% + 7x° — 2(3)63 + Tx)—x 2(2)63 + 6x2) + 8% — 9%’ + 4x
3(6x3 + 4x2) +7x— 6x° — Tx° 3x? = Ox° + 3x+ 64 + 2
6x° — 6x% — 9x° — 7x — 9x 7 — 6x% — 2(x+ 9x) — X
6x° — 8x + 4(7x3 + 9x2) — 8x? 2(7)62 — 5x)— X+ +4x
847 — 5x° — 4x> + 9% — 6 8x° + 4x* — 8x — 2(x2 — 5x)
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XX X X,

Semplificare i polinomi

Nome:

8x° + 7> — 2(3)(?3 + 7x)—x
Ox® — 15x

3(6x° + 4x%) + Tx — 6x% — Tx®
11X + 6% + 7x

6 — 62 — 9x° — Tx — 9x
—3x° — 6% — 16x

6x> — &x + 4(7x° + 9x%) — 8x?
34x° + 28x% — 8x

8% — 5x° —4x° + 9x? — 6x
—0x°> + 17¢ — 6x

Data: Punteggio:

2020 + 6x%) + 8x% — 9x° + 4x
5% + 20x% + 4x

3% = 0% +3x+ 607 + 20
—7x> + 9 + 3x

7 — 6x — 2(x + 9x) —x?
7 — 72 — 20x

2(7x% — 5x) =% + x>+ 4x
x>+ 1327 — 6x

8x° + 4x? — 8x — 2(x% — 5x)
8 + 2% + 2x
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